Gradients
1) Find the gradients of the following graphs and label the axes and the line correctly on the graph.
a)                                               b) 
c)
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   2) Each pair of co-ordinates lie on a line; 

          a) find the gradient of the line, 
          b) find the y-intercept of the line, 
          c) give the equation of the line.

(i) (-1,4) (2,6)               (ii) (-2,-4) (3,7)       (iii) (3,6) (-5,-2)   

(iv) (-6,-1) (-1,-8)         (v) (2,6) (4,10)        (vi) ( 13,21) (33,17) 

(vii) (-11,-15) (-5,-3)    (viii) (-1,-18) ( 6,22)




















































